EARAROBEEIERT — 2 N— IBISH —F

2016108228 (+) 4E=#6H

mﬁi%Sﬁi 500ATF 4 [B8E] 2 ‘ (xfg] £ ‘ [REmshE] — | & (&) 1800M B
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 4| TREXYLFL [B) i 4 g’za_ﬂ(i)tf‘ﬁ 1:(5_2).8 2-2-2-2 | 37.1| 93.6 | 1 (4:;6) *2%;‘;*?; (E=)
gy BFieMTY NEWR E=
. N = R :53. -11-9- . . HwHEZ (FXR)
ol7lg| 7T 1XI1 Y i 5 i (11513/20) 1-11-9-8 | 36.4| 91.7 | 6 (4:320) e
AR g1 =7 BHUVXYT 1y Id—ILK J =Y Tr—L
N N R WEEB : 54— 1EREIE (FR)
355 | T4 —va> it 5 A;.o 1(75?:) 5-5-4-4 |37.2| 90.8 | 4 (4_822) pEe
LUFTAHALEZ Bih—U—Ey R FE%S
s 4 | EADEX 1:53.3 5-5-4-4 |37.3| 88.9 | 3 486 |BE (FER)
sl 8| ANVE—F 55.0 (1 1/4) 42) ") 57 2k b
RixrvnqO— BT r—L—> [f:zkie
3 B t 3 | mAR 1:53.7 1-1-1-1 | 38.2| 84.7| 5 496 | BEAE (EH)
5|5(6|F—AINFF v 53.0 2 1/2) oy | @) £ -x3
LN—=Y754 B:A—-XIULFK B4
SERTEATE 4 3 | F. yxzA> 1:54.0 8-8-6-7 |37.7| 82.2 | 8 472 | BHEEZ (ER)
61811 Iq 4>y 53.0 (1 3/4) #10) (#%) e
LY IRGT4 TSR BT BN — KA IS
FHEHE : 46— MTFRL (EXR)
. o | FUBIAT B4 %2.0 1(.15/42.; 2-4-6-9 |37.8| 80.9 | 7 (4_226) A(Jrskf T ®%
Riw>Ny&rh7r B:A—-X3%3 [Ealzzksecd
. . BRERK : -12-11- EEEA (BER)
8 3 @FLITLLT i 5 5%.0 1(.;3;2.)2 12-12-11-10{ 37.4 | 80.6 | 11 125)6 oot
R:ZAZXHT 1=y X B:XXHT7A-F U5 &) 4G
. 4 4 | ERH 1:54.2 9-8-6-6 |38.0| 80.1 | 9 460 | AHESH (3ER)
9[8l12| ET/ 71 AL 85.0 (75%) Lo | ) i T
XL ThANAN BT —DTI714—-> BERS
it 3 | K& 1:54.4 2-2-2-3 |38.6| 78.7 | 2 464 | /NEE (ER)
10| 7 (10 FHU=2 53.0 (3/4) (42) %) *—77—X
L:7A7% B:HILIIS J—YTr—L
= . 4 5 | BRERAK 1:54.5 7-7-9-10 |37.9| 77.5 | 10 | 480 |MkEMR (EXR)
111 |@®@T>TLANZA 55.0 (3/4) (+2) | IEREAER
R:TFAT X240 B:F7Fo¥a/NF it
< e N EHEE : -10-11- HER (EX)
1 P2 E =L 4 3 2 (17'546&5) 9-10-11-12 [ 39.7 | 62.2 | 12 <4+324) ﬁig
R:Tr—T4F4F—-IY%> B:71—s—%tx rerae]
@ 71 L
) 49.7-37.3
NA>Z24 L | 12.3-11.7-13.2-13.0-12.9-12.4-12.3-12.5-12.5
® I —F—EBIERL
13=3r= 6(2,4,10) (5,8)1,11(7,12)-9,3
20—F— 6(4,10)2(5,8)1(12,11)7,9,3
30—F+-— 6(4,10) (5,8) (2,12,11) (1,9) (7,3)
43—+ — (x6,4)10(5,8)12,11,9,2(1,3)7
[ N3
BB 4 290M 714K 4-9 570M e E 4-7 480M JEHE 4-5-9 3,130/
8 B 4 130M4 4-5 290M B E 4-9 1,940/ B 4-9-5 17,1504
9 280 5-9 1,210 B H 4-9 3,450
5 1804

ABICOVWTRDTEEERROODE. TR LIV,




